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Qb : ...

rQb : ...

Qb
halo-corr : ...

rQb
halo-corr : ...

Qb
bar-only : ...

rQb
bar-only : ...

(Qb
bar-only)halo-corr : ...

(rQb
bar-only)halo-corr : ...

QT(rbar) :   0.32 +  0.01
 -  0.03 

QT
halo-corr(rbar) :   0.28

ε :   0.45

A2
max : ...

rA2 : ...

A2(rbar) :   0.35

A4
max : ...

V3.6µm
max      :   37.1 +   0.5

 -   1.3  km/s

r3.6µm
max      :  18.75 +  1.50 arcsec

V3.6µm(Ropt) :   34.3 +   0.2
 -   0.5  km/s

dRV3.6µm(0) :   85.5 +   5.7
 -  11.7  km/s/kpc

Mh/M∗(<Ropt) :   0.91

a :    2.3 kpc

V∞ :  105.6 km/s
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